Operations on Sets August 29, 2023

Today's Plan:

Learning Target (standard): | will determine the union and intersection of
two sets through set builder notation and graphically.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

p29 #2-32 even 16){x |2 < x <4}

18)AU B ={-1,0,1,2}

2){-3,-2,-1} 20)4U B ={1,2,3,4,5,6,7,8}
H.3,5,7.9,11; 22)AU B ={-3,-2,-1,0,1}
6){31,37}

24)Au B ={0,1,2,3,4,5}
26)AN B ={0}
28)4NB={-5,0,7}

30)AnNB=0 “emp-\-‘ st "
32)AN B ={1,9}

8){1,4,9,16,25,36,49,64,81}
10{x|x<-2,xeZ}
12){x|x<-3}
14){x|-5<x<2,xeZ}
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Solve for Y

—4x+3y=7
+4X +4x

S

_y
V=33

Solve for y :
2x—-S5y=14
A 2K
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Solve.
"ve2 =2y 'Z—é’

_IN+30 =307 — T8

-80v=-108
-50 -3

_
=53

Write in set form. Choose the method that makes the most sense.

e set oumbers between -3 and 6
PP > x\ "30(‘(02
", b
e set oreater than 4 and less than or equal to 11
256184,0,1¢
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Find the union and intersection of the sets.

A={D4,68{ D15}
B={-3,-2,-1,0Q01002)

AUB=2320,2,4,6%,0,12 \\5‘3

AnB=52% \Z.g

Find the union and intersection of the sets.
A=1{-5,0023,4,6,7(8}
B ={128»,10}

AUB = —S)OJ ,Z,3,"\| (3,—"8'0‘,\‘0-%

AnB=57 §7
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Operations on Sets: v

e The union of two or more sets is the set of eléments in either set A or set B or both

A={x|-2<x<4}e X:“s\w&.a" é-opm
B={x|x<8}e _‘;__c((mo

AUB 1| |

L 1
-10 - -1 0 1 3 4 5 6 7 8 9 10

ﬂ\ﬂ?) ZX\X“EE

Operations on Sets: “wu'\ap" ,"om&"

* The intersection of two or more sets is the set of elements in both set A and set B

A={x|—2<x£4}o

10 9 8 7 6 54 -3 2 -1 0 1 2 3 4

A rﬂ?):Zx\ 24241
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Graph and write the union and intersection of the given sets:

A={x|-2<x<3}
B={x|-4<x<2}e

8 9 10

-qexf-&?s

10 9 8 7 6 5 4 3 2 -1 0 1 2 3 4 5_6

Avb=2x

AUB

109 8 -7 6 54 -3 -2-1 01 2 3 4 5 6 7 8 9 10

ANB

10 9 8 7 6 5 4 3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

AAB=3x|-24x<2%

Assignment:

Operations on Sets Worksheet
#1-20
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